1D pull distribution

0.01814 + 0.1698

Mean

1139+ 0.12

Std Dev

Underflow

Overflow

8.465/7

X2/ ndf

10.88 +2.48

Constant

0.1623 + 0.1184

Mean

0.7148 £ 0.1128

Sigma

:

0III|III|II

58.38/44 hH

-712.3

X2 / ndf

137.4

+

pO

Adet (ppb)

._|.|.|.|_J|.|.|.|_..____________

1000

2000

3000

4000




RMS (ppm)

97

96

95

94

93

92

Adet RMS (ppm)

1 I e e I e s I 0

e B e R P e P e e e P



8000

6000

4000

2000

2000

4000

AdetRaw (ppb)

X2 / ndf

pO

16.87 /44

—721.2 +

446

-I-|III|III|III

|Ilw—l—|—|—l—hlllllll

1D pull distribution

Mean 0.01578 +0.09125
20 B B StdDev  0.6122 +0.06453
18 [ Underflow 0
B Overflow 0
16
- X2/ ndf 6.649/4
141 Constant 13.21+2.85
- Mean 0.01162 + 0.10192
12~
X Sigma 0.6201 + 0.0919
10
8 — —
6 —
4 — -
=
L L1l | Ll | Ll 111 | 111 Ll | L1l | Ll
0
-8 -6 -4 -2 0 2 4 6 8




RMS (ppm)

290

280

270

260

250

240

230

220

AdetRaw RMS (ppm)

v N N T Y O B A 0 A O

e B e R P e P e e e P



4000

2000

2000

4000

asym_hcm_target (ppb)

X2 / ndf
p0

15.24 /44
-184.3 + 261.1

—
[em—
—
[em—
—

18

16

14

12

10

1D pull distribution

Mean —0.001089 + 0.08676

CJOO

:_ Std Dev 0.582 +0.06135
: Underflow 0
: Overflow 0
:_ m X2 I ndf 7.961/3
: Constant 17.48 + 3.69
[ Mean 0.1532 + 0.0907
-_ Sigma 0.4509 + 0.0601
Lol L IhA e o b b
6 4 =2 0 4 6 8




RMS (ppm)

280

270

260

250

240

230

asym_bcm_target RMS (ppm)

I Y e e e e I
R e B e e P e e P P

af-



= I ) ) < © < )
8 B > N 3 3
g 8 & & 3 3
- g s @ ]
+ + S + - ]
© o o o
3 S g & b
g 5 g 3 -
© ? 3
> m 3 € -1
o £ o <] s © —
c|l§s S & 3 2 & 5 B .
o s B 5 S %« 8 2 & E
E=
3
<] \“_W.
5 | _ ]
5 | -
— L -
= =
o
o i
- -
o b o by e by by s by 1 Lo by v by v by
o [ee] © < N o oo} © < N o
N — — - i -
I Py
L4
S
<
-~ m
MA.
2+
— N
i
—_——t——
n —eo—+h
| —_—
Y —_————
© —_—————1
< —_—
~
—
NP =} ]
=< Q| —————
— T
= —
e — o 1 .
o ———
nVa —  ———
! S I
(2]
u_ —
= —
> — et
% —_——
—_—
—_—
—_———
—  —
—_————
—_————————
—_—
—_———————
—_———
— i
—_—
— e
——
—_—
bt )
_______ ________________
s 8 8 8 ° 8 8 8
o o o o o o o
© © 53 « 1Y =3 ©




RMS (ppm)

290

280

270

260

250

240

230

220

asym_us_avg RMS (ppm)

v N N T Y O B A 0 A O

e B e R P e P e e e P



1D pull distribution

0.02615 + 0.1295

Mean

+0.09156

0.8686

Std Dev

Underflow

Overflow

9.143/5

X2 / ndf

7.652 +1.526

Constant

0.04868 + 0.19375

Mean

1.036 +0.141

Sigma

il
6

Al (I e
0

0III|III

33.98/44 R

X2 / ndf

777.2

+

—685.3

pO

asym_usr (ppb)

5000

10000

15000




RMS (ppm)

800

750

700

650

600

550

500

asym_usr RMS (ppm)

i
4

R e B e e P e e P P



0000
15000

1000

o o ) ) w0 ~ 0 «
S 3 > 2 8 8
S8 @ & =
s 9 5 & 8 2
+ ﬂ o~ ﬂ pas + .
§ o EEEA ]
g g i o= i
: : ]
= .
; £ 2 =
< [a} ol T k) <
c @ ° o c I3
a2 & 5 3¢ 8§ =
=
>
b =
= -
= -
2 ]
© [ .
— L -
=1 -
o
(@)
-
P IS T T N TN SR T A T T W N1 Ly w0 T
< N o © < N o
— — —
I
T ©
Yo
s
<
S
3” —
—_——]
Lo
N~ ——
| ——
———
Y— —]
© —_————
c
~
————
NP =}
< —
[E—
—
~
o) l—
Q. —
e —
3 —e
| —
1S —
7 —
a L
—_——
—_——
—_—
—_—
—_—
—
-
—
—
—
—
——
H
—
___________________ .._|_|_|_|
o

L
o o
S
=]

s}




RMS (ppm)

750

700

650

600

550

500

asym_usl RMS (ppm)

—|I|III

e B e R P e P e e e P



2 3 ° ° ~ 2 3 8
9 IS} 0 o = b
S H < o S °© i
H - © 3 + + 7
3 8 s g g ]
R g = -
2 IS S i
- 3 oz £ ]
) T 2 k=1 8 ]
S a o} T c 1] s £ -
c ] = B g ~ 5 o} i=) N
o = 2] =} o < o = 2]
E=
3
2 : ﬂ.
= [ -1
- -
2 [ ]
ol L . -
= .
o
o =
- -
! | I T PR T R AN TR T TR N Ly 7
o © © < ~N o
~
[ ———
——
< < —
N R
—~m ®
o < ——
™M 4 —te—
83 —e—H
- ——
N~ ——
| —
——
Y— —
© —_——
c
~
—~¥ =
Sl><e
o —_—
(= —_——t
~
—
WJ —
a_
————
(2]
u_ —_——
—
m —_—
Wu/ ——
(] —
r_ —_———
(o)) ——
< — et
—
- ——
—t——
—
———
——
——
——
—
——
——
—_——
—_—
_______________._l.l.l.l_Jl.l.l.l_..____________
o o (=} o o o (=}
o o o o o o o
o o o
@ « — =] m S %




RMS (ppm)

97

96

95

94

93

92

lagr_asym_us_avg RMS (ppm)

1 I e e I e s I 0

e B e R P e P e e e P



1D pull distribution

—0.005567 +0.1537

Mean

+0.1087

1.031

Std Dev
Underflow

3.692/6

7.539 £1.512
0.0157 +0.2295
1.236 +0.212

Overflow
X2 / ndf
Constant

|

Mean
{
| L 11l | 111 | 111 | 11

(o2}

©

™~ © ) <

™

N

—

OIII

47.81 /44 R
—838.2

X2 / ndf

190.8

i

+

pO

lagr_asym_usr (ppb)

4000

2000

6000 —




RMS (ppm)

132

131

130

129

128

127

126

lagr_asym_usr RMS (ppm)

AT

R e B e e P e e P P



~ © © o ©v ® 9 o
N 9 - © 8 &~
w o v N3 4
3 © ¢ < g o° ©
H H o« M + H -
~ 03 g o X .
® 8 S 49 o B
b @ oo — ©
S ° -
o
: 2 3 s G
s &4 s £ 2 B g ¢ <
nem.mw;_lme.mu
ol|l=z= »® S5 O =< O = »
= ]
=] — «~
b =
= ]
..& -
5 [ ~— -°
= u
a el
o
—
¥
—¢
P I T T T | _______________lom
~ o © < ~ ©
- —
I
< O
< o
~
N~
N+
M~ w0
AR
[e]
Ko
|
G—
©
c
~
N =]
< Q]
o)
o
o
N
o
>
m_
>
7]
©
r_
(@]
«
———
—_——
____
8 8 ° 8 8 8 8 8§ "recnyeq
1S) S & 8 8 8 8 < o o'l
3 =1 g4 & O ® 9 9»B T



RMS (ppm)

lagr_asym_usl RMS (ppm)

133

132

131

130

129

128

—||II

e B e R P e P e e e P



	Contents
	Page 1
	Page 2
	Page 3
	Page 4
	Page 5
	Page 6
	Page 7
	Page 8
	Page 9
	Page 10
	Page 11
	Page 12
	Page 13
	Page 14
	Page 15
	Page 16
	Page 17
	Page 18


